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Math 151 Caleulus with Applications and Technology Name }’{_ﬂr M
Final Exam DATE: TIME: " "PLACE: 4

~Final Exam Mini-Review~ Remember to study your old tests and recnrggéded homework.
INSTRUCTIONS: You must show your work to validate your answers.

1. Given R(x)=4x’—7x andC(x)=3x"-x+7.
What is/are the break-even guantity/quantities?
What is the profit function?

2. Given f(x)=x"-8x+9 and f'(x}=2x-8.
Critical number(s)?
Largest interval(s) increasing?
Largest interval(s) decreasing?

3. Find the derivatives of the following functions.

4 Flay=Be =10t 523 b. f(x)=+2x"—6x+11

i
b y= (& " Y(In(4x® —Tx +11)) d. f(x)= %

Ao
e. y=(5x"—17x? —8x)" e f(x)=(2x" -9 +x' -%)

4. Find the antiderivative of the following functions.
a. [(7x"=19x" +x +8)dx

b. I{e-l-.n,-"_i'.l;-r'l J[]. 2__52 2 ?}dx

5. Whatis f'(x) according to the limit definition of the derivative?

6. Evaluate the following antiderivative.
L (x* — x +8)dx

7. Find the area between the curves. y=x" —2x and y =0; interval [-1,2].
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8. Find the limits of the following functions.

a. liII&{l 1x +10})

,k'/h“*/-i-ﬂlj.
->"“5'Uc -4 - /J’ﬁf_;/

© b X 25159 (x ;ﬁmz) P 4 (27 S
8 x5 x—5 {,;/«-'_';_J I_EJ e 9.1'“—84\'/_)/

9. Find the equation of the tangent line given the function f(x)=x"4+3x" =1 whenx =1.

10. Find the absolute maximum and/or absolute minimum value for the following function.
flx)=x"-3x" —24x+5; [-3.6]
Relative.max. of atx = : Relative min. of atx =
,Ab-ik‘ku:k_ .,"'!'r bso | “‘*Jﬁ...

1. Use the griph tc:r draw a sketc]-Lx prcsentmg the following for the function, f(x). Fill-in the blank for part d.
ek BME dep "

a. lim f()=3 '

=1

b. Jim f(x)=-7

r—2*

6. f(2)=3 ] R l

d. lim f(x)=DNE A 4 - i
K—2 P T ]

Lm fo lm ¢

12, Area A family has 1200 m of fencing. They want to enclose a rectangular play area bordering a brick
wall. No fencing is needed along the brick wall.

a. Find the dimensions needed for the
maximize play area.

b. What is the maximum play area?
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